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1. Stadium 1 150,000
2. Stadium 2 120,000
3. Stadium 3 107,501
4. Stadium 4 107,282

5. Stadium 5 104,000

6. Stadium 6 102,455
7. Stadium 7 102,329
8. Stadium 8 101,821
9. Stadium 9 100,119
10. Stadium 10 100,018

Answer the following questions.

1. What is the total seating capacity of all the stadiums?

2. What is the difference in the seating capacity of the stadium 3 and the stadium 62
3. Estimate the seating capacity of the stadium 7 to the nearest hundred.

4, If people sit in groups of 85, how many groups can be formed in the stadium 22

5. If half the number of people sitting in the stadium 10 have 3 balloons in their
hands, how many balloons are there in all?



